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> import_wizard

»» Untitled?2

»» odf=calcODF (pf)

—————— MTEX -- PDF to ODF inversion ---------------——-
Call c-routine

initialize solver

start iteration
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error: 9.41739E-001 7.5916E-001 5.1647E-001 3.1712E-001 1.9630E-001 1.2784E-001 8.7798E-002 6.3620E-002 4.8564E-002 3.9005E-002 3.2886E-002 2.8954E-002

Finished PDF-0DF inversion.

error: 2.8854E-002

alpha: 9.5782E-001 9.996BE-001 9.9814E-001
required time: 4s

odf = ODF (show methods, plot)
crystal symmetry @ Iron-alpha (432)
specimen symmetry: |

Radial Iy symmetric portion:
kernel: de la Yallee Poussin, halfwidth 5
center: 4763 orientations, resolution: 5°
weight: 1

»» r=[uvector,yvector,zvector]

r = vectordd (show methods, plot)

size: 1 % 3
vz
100
ot1ao
0ot
>> plot IPDF (odf ,r)
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